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Please check that this question paper contains 15 printed pages.
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(i) All questions are compulsory. This

questions paper has 27 questions in all. There
are five sections in question paper.

(ii) Section A contains Questions number 1 - 5 of one mark each, The answers 1o these
Questions should not exceed 20 words each,

(ilc') Section B contains Questions number 6 ~ 10 of two marks each. The answers to
these questions should not exceed 40 words each. A

()  Section C contains Questions number 11 — 16 of four marks each. The aniwers to
these questions should not exceed 100 words each. | i

(v) Section D contains Questions number 17 — 21 g{ﬁk ‘marks each. The ans
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Explain the term ‘Capitalism’,
. OR

What is meant by ‘Eastern Alliance’ formed during the Cold War period ?
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Which one of the following statements related to the Iraq invasion by the US is
incorrect ?

(@) More than forty other countries were involved in this invasion,

(b) The UN had given consent to invade Iraq.

(c) The invasion was to prevent Iraq from developing weapons of mass destruction.
(d) The US lost over 3000 military personnel in this war,
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Highlight any one benefit of having an International Organization.

OR
Explain the importance of ‘Arms Control’ as a measure of traditional security,
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Justify the reorganization of states in India on language basis by giving one suitable
argument.
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Explain the meaning of ‘Coalition Government’.
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Describe any two features of the Soviet System.

OR

Mention any two effects on the East European countries that the Soviet army had
liberated from the fasciest forces after the Second World War.
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Suggest any two measures to improve relations between India and Pakistan.
OR

How did the Sino — Indian conflict of 1962 affect the Communist Party of India ?
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Evaluate the impact of national emergency declared in June, 1975.
OR
Assess the role played by *defections’ on Indian politics.
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Analyse the main reason for limiting the Dravidian Movement from the whole of
South India to Tamil Nadu only.
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Match the following in ‘Column A’ with those in ‘Column B’ in a meaningful way.
Column ‘A’ Column ‘B’
(I) Chipko Movement (@) Maharashtra
(I Narmada Bachao Aandolan (b) Uttarakhand
Dalit Panthers Movement (¢) Andhra Pradesh
Anti-Arrack Movement (d) Gujarat
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Explain any two constraints on the American hegemony.
OR

Explain any two factors that have contributed to Pakistan’s failure in building a stable
democracy.
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Describe any four criteria that have been proposed in recent years for new permanent
and non-permanent members of the U.N. Security Council.

OR
Describe any four new sources of threats to non-traditional security.
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Explain any two major causes of globalization.
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Describe any four features of the ideology of the Bhartiya Jana Sangh formed in
1951.
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Analyse the Nuclear policy of India.
OR

Analyse any two causes of conflict between India and China.
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Examine any four factors that, you think, led to the popularity of Indira Gandhi
Government in the early 1970s.

TUT-7
SECTION - D
mmm}mﬁwﬁqsﬁtaﬁﬁf&awﬁ%mm:

mnmmmmt&m#y-ﬁﬁnwﬁmﬁmﬁmm&xﬁaﬁvﬁ
mmﬁ%wﬂﬁmm |mgz%mmimmﬁaﬁam

(i) ¥fia3e F1 3 e Hifrg |

(ii) mmwdm@%mmﬁmﬁmﬁm:

(iii) mﬁy—ﬁmmﬁﬁwﬁﬁﬁWﬁﬁmﬁﬁm
1o

59/1/1 6 m




1 —— - . Aa——

59/1/1

ﬁmmﬁmﬁmaﬁtﬁﬁqwtmmz

mimmmgkmﬁa:ﬁtmmmmﬁmgﬁﬁmmtm
W*mmmﬂﬁtlmaﬁﬁiﬂ:ﬁhmmw%mmm%m
gy R | WA -& wai %1 sl smadt favarm si am fid & s 2 | wra-sg
tmﬁun%ﬁa‘hmvﬁaﬁmﬁﬂﬁamﬂt | vty faet fpewt & Araept o
TSR A AT ey wrr w3t g e w9 % Al ot - om
ST & | 319 5 & 3 R Pt e arord gt et # i e 7t 3 e o iR |
() & arrETd i & o i @ 7

(ii) msﬂtm%uﬁan@mﬁ%ﬁmmaﬁiﬁmmm |
(iii) m%m%maﬁwﬁwmmaﬂﬁéwﬁﬁwqu@mﬁ

1+2+2=5
Read the passage given below carefully and answer the question that follow :
It is important to remember that India chose to involve other members of the non-
aligned group in this mission of reducing tension. During the Cold War, India
repeatedly trie. to activate those regional and international organizations, which were
not a part of alliances led by the US and the USSR. Nehru reposed great faith in ‘a

genuine commonwealth of free and co-operating nations’ that would play a positive
role in softening, if not ending, the Cold War'.

(i)  Explain the meaning of Cold War.

(ii) Explain Ina:a’s response to then ongoing Cold War.

(iii) Highlight any two features of India’s policy of Non-alignment.
OR

Read the following passage and answer the following questions :

India has maintained good relations with all the post-communist countries. But the
strongest relations are still those between Russia and India. India’s relations with
Russia are an important aspect of India’s foreign policy. Indo-Russian relations are
embedded in a history of trust and common interests and are matched by popular
perceptions. Indian heroes from Raj Kapoor to Amitabh Bachchan are household
names in Russia and many post-Soviet countries. One can hear Hindi film songs all
over the region, and India is part of the popular memory.

(1) What is meant by the post-communist countries ?

(i1) Explain any two factors responsible for strong relations between India and
Russia.

(iii) How are India’s relations with Russia an important aspect of India’s foreign

policy ? X pTO.
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Read the passage given below carefully and answer the questions that follow : .

All proponents of human security agree that its primary goal is the protection
of individuals. However, there are differences about precisely what threats

individuals should be protected from. Proponents of the ‘narrow’ concept of human
security focus on violent threats to individuals,

(1)  Which type of security is the main concern of ‘human security”’ ?

(i)  What would you like to include under the ‘broad’ concept of human security ?
Explain.

(iii) Identify any four threats from which individuals should be protected.
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Read the passage given below carefully and answer the questions that follow :

:,nod;\a t(}:d not follow any of the two known paths to development...... Elements from
t ese models Were taken and mixed together in India. That is why Indian

economy was described as ‘mixed economy’.

(i)  Name the two models / paths to development.

(i1)) Why was either of the two models not fully accepted by India ? Give at least
one major reason for each.

Highlight any two features of India’s mixed economy based on the above said
two models.

(iii)

OR

Read the following passage and answer the questions given below :

India is not the only country to have experienced the dominance of one party. If we
look around the world, we find many other examples of one-party dominance. But
there is a crucial difference between these and the Indian experience. In the rest of the
cases the dominance of one party was ensured by compromising democracy. In some
countries like China, Cuba and Syria the constitution permits only a single party to
rule the country.

(1) Which political party dominated the political scene of India after independence
and how long ?

(i1) How did the one-party dominance in India differ from that of China ?
(iii) Highlight any two drawbacks of a single party rule.
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dv the cartoon given above carefully and answer the following questions :
Study

(i)  Which part of this cartoon is related to China ?
(ii) Assess the strength of China on the basis of the cartoon.

i) “China may be the next superpower in the world.” Justify the statement With

two arguments.
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Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 20 :

20.1 In your opinion, where does China stand as an €conomic power ?

20.2 Assess any two conditions which make the United States of America, a super-
power.

20.3 “China may be the next superpower in the world.”

Justify the statement with
two arguments,
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In the political outline map of India given above, five states have l')een .markec: as
@. . @ @ and @ Identify these states on the basis of information glv.en be o.w
and write their correct names in your answer book along with the respective serial
number of the information used and the concerned alphabet in the map as per the
following format.

Sr. No. of the Concerned alphabet in the Name of the State
information used Map

1)

(i1)
(iii)
(iv)
(v)

(i)  The state where a violent incident took place at Godhara in 2002,

(ii) The state which was earlier known as Madras.

(iv) The state to which Laldenga belonged.
(v)  The state which integrated with India in 1975 as 271 State of India.
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Note : The following questions are for the Visually

Impaired Candidates only in
lieu of Q. No. 21.

21.1 Name the state where a viojen incident took place in 2002 at Godhara,
21.2 Which state was earlier known as Madras ?

21.3 Which state integrated with India in 1975 as the 22™ state ?

21.4 To which state did Laldenga belong ?

21.5 Name the state which has maximum number of seats in India in its Legislative
Assembly,
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Describe any four consequences of the disintegration of the Soviet Union.
OR

Describe any four.reforms purposed by United Nations Conference on Trade and
Development (UNCTAD) for the development of least developed countries,
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| ‘Explain the ethnic conflict in Sri Lanka and any two consequences of it.
" OR

: ina.
 Explain any three major events that affected the relations between India 209 Chi
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Analyse India’s stand on environmental issues discussed at the international level.

OR

Evaluate the cultural consequences of globalization.

25. 1947 # 3T WA & fasrom & el ©: qiomat <t samen Sl | 6x1=6

AU

AT & YIEI, WA % B dF W g1 3 i 9l F wyed & o 7 ge
HTOT sl ST HIfT | 3x2=6

Explain any six consequences of the partition of India in 1947.

OR

Highlight any three major reasons for the dominance of Congress Party in the first
three general elections after independence.
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Describe any three important events that led to the split in the Congress Party in 1969.
OR
=5 Daseripeanyﬂmeevcmsthatledtothc imposition of emergency in 1975.
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Assess any three benefits of the coalition governments in India since 1989.

OR

Analyse any three main causes of unrest in Jammu and Kashmir.
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